T N B EA G2 CPRk2T4E 4 1)

D1 E
H
#» B m AR & 2 A 3 A 4 A 5 A
& B | 23,660 [ 28,980 FJ| 38,980 M| 48,980 [J| 58,980 [
£ & B & & 32,140 43, 350 37, 470 31, 600 25, 720
AR - B Rl 2,810 3, 530 4, 640 5, 760 6, 870
Me | 26,520 35, 740 54, 290 72, 850 91, 400
Me Im| 13,220 27, 020 30, 840 34, 650 38, 470
= 98, 350 138, 620 166, 220 193, 840 221, 440
D2 2HF
R —
» B AR, 2 A 3 A 4 A 5 A
& B | 27,800 | 34,050 FJ| 45,800 M| 57,550 3| 69,300
£ & B & | 43,190 58, 260 50, 360 42, 460 34, 560
AR - B Rl 4, 740 5, 950 7,830 9, 700 11, 580
ME | 27,370 36, 890 56, 030 75, 190 94, 340
Me Im| 11,620 23, 740 27,100 30, 450 33, 800
= 114, 720 158, 890 187, 120 215, 350 243,580
3% FER, ftar N BRI B E R
EYN=]
ST 2 A 3 A 4 A 5 A
= B & 0. 443 0. 596 0.749 0.901
T EEKRE 1. 094 0. 946 0. 797 0. 649
A - B 0.373 0. 491 0. 609 0.726
M B I 0.273 0.415 0. 557 0. 699
M B II 0. 343 0. 392 0. 440 0. 489
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